
<html>
<head></head>

<body>

<CENTER>
<TABLE BORDER="1" WIDTH="100%" CELLPADDING="3" CELLSPACING="3">

<TBODY>
<TR>

<TD rowspan="4" width="29%">Father</TD>
<TD rowspan="2" width="32%">Paternal Grandfather</TD>
<TD width="39%">Paternal Great Grandfather 1</TD>

</TR>
<TR>

<TD width="39%">Paternal Great Grandmother 1</TD>
</TR>
<TR>

<TD rowspan="2" width="32%">Paternal Grandmother</TD>
<TD width="39%">Paternal Great Grandfather 2</TD>

</TR>
<TR>

<TD width="39%">Paternal Great Grandmother 2</TD>
</TR>
<TR>

<TD rowspan="4" width="29%">Mother</TD>
<TD rowspan="2" width="32%">Maternal Grandfather</TD>
<TD width="39%">Maternal Great Grandfather 1</TD>

</TR>
<TR>

<TD width="39%">Maternal Great Grandmother 1</TD>
</TR>
<TR>

<TD rowspan="2" width="32%">Maternal Grandmother</TD>
<TD width="39%">Maternal Great Grandfather 2</TD>

</TR>
<TR>

<TD width="39%">Maternal Great Grandmother 2</TD>
</TR>

</TBODY>
</TABLE>
</CENTER>

</body>
</html>


